Crack the Code

Use the secret code to work out which of your spelling words are which!

a b c d e f g h i i k l m
22 20 4 26 14 12 13 18 21 17 6 15 11
n o p q r S t u v w X y z
5 24 19 7 2 3 16 23 8 1 10 25 9
20 15 22 2 21 5 13
19 5 13
19 23 15
14 22 2 21 4 21 5 13
23 5 24 20 16 2 23 3 21 8 14
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Crack the Code

Use the secret code to work out which of your spelling words are which!

a b c

22 20 4

k l m

6 15 11

10 25 9

15

21

*x x
¥ Challenge Task ]

14

Which of your spelling words is missing? Use the missing word in a passive sentence.
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Crack the Code Answers

Use the secret code to work out which of your spelling words are which!

a b c d e h i i k l m
22 20 4 26 14 12 13 18 21 17 6 15 11
n o p q r u v w X y z
5 24 19 7 2 16 23 8 1 10 25 9
b | i n g
20 15 22 21 5 13
p I e r ¢ | n g
19 21 14 2 4 21 5 13
p e a ¢ e f u |
19 14 22 4 14 12 23 15
e a - p I e c I n g
14 22 2 19 21 14 2 4 21 5 13
u n o b t u s e
23 5 24 20 16 23 3 21 8 14
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Crack the Code Answers

Use the secret code to work out which of your spelling words are which!

a b c e f g i i k l m
22 20 4 14 12 13 18 21 17 6 15 11
n o p r S t v w X y z
5 24 19 2 3 16 23 8 1 10 25 9
i |l e n t
21 15 14 5 16
t a n ¢g wu i |
16 22 5 7 23 21 15
i a uw d | b | e
21 22 23 26 21 20 15 14
a u c 0 u
22 23 4 24 23 3

*x x
¥ Challenge Task ]

Which of your spelling words is missing? Use the missing word in a passive sentence.
Accept any passive sentence that includes ‘deafening’, e.g. The man was startled by the

deafening roar of the plane engine.
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